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6001 EUREDS 50 50 100 37.0 ERiL
6002 FHraTett =TeT 49 50 99 34.6 ERiL
6003 = TrerETar aq aq 0 aq ELRIE G
6004 UIRE] 48 50 98 39.3 ERiL
6005 FA<T g 44 50 94 34.2 ik
6006 YA FHTT TETF 49 50 99 39.4 ERiL
6007 HTHT SATATIT 45 50 95 31.0 ik
6008 e HT =T T T 0 T ELRIK
6009 T e AT 46 50 96 30.5 ERiL
6010 erea? arel 48 50 08 31.7 3fror
6011 F=qq Ferar 46 50 96 31.6 ERiL
6012 TAIT AT 1 1 0 T SR
6013 v AT 47 50 97 31.8 ERiL
6014 qE 975 FAT aq aq 0 El EREI2k
6015 Hferar == 49 50 99 36.9 ERiL
6016 Fread 9 T T 0 & ELRIK
6017 FHTTERT ZT 46 50 96 32.0 ERiL
6018 FHAT TAT TTH 48 50 98 31.9 I
6019 Tt Teft T T 0 & ELRIEK
6020 afverHiaT I aq aq 0 1 ERRI2 0]
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6021 fag Y AR et 34 48 82 29.5 Eniki
6022 TEFE TEHT 41 50 91 30.6 3<frot
6023 TSI STAT T T 0 T ELRIE G
6024 T qEsit 33 44 77 28.7 Rl
6025 97T FHTL THTF 31 50 81 31.0 Eniki
6026 EISIERE RS 4 0 4 0.0 ERuiL]
6027 T FHL 49 50 99 38.4 3<frot
6028 BER AR LI 0 0 0 0.0 ERiu]
6029 oz T 0 0 0 0.0 ERiu]
6030 CISEUERE: T T 0 T ELRIK
6031 Y oraw 46 50 96 425 Eniki
6032 Frad T AT 48 50 98 40.3 Eniki
6033 TR AT 45 50 95 42.0 3fror
6034 FOT FAETET 15 42 50 92 36.8 3<frot
6035 TP FAT 48 50 98 40.3 Eniki
6036 TR qTETT 47 50 97 39.3 Eniki
6037 arorTe g 47 50 97 39.7 ikl
6038 foer gume 48 50 98 45.7 Eniki
6039 T TiTE 48 50 08 38.5 3fror
6040 T w9 famae 49 50 99 43.5 Eniki
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6041 [EERRL] aq aq 0 1 ELRl2 0]
6042 BEC-AT] 48 50 08 43.3 Enik]
6043 FITCT 48 50 08 46.8 Enik]
6044 9T FHTL HELT 43 50 93 41.8 Enik]
6045 ST 7T o1 48 50 08 49.0 Enik]
6046 BECERIECH 46 50 96 44.2 Exik]
6047 A FHTC T 48 50 08 46.0 Enik]
6048 Trgel FAT Ay 48 50 08 51.8 Enik]
6049 ST T 45 50 95 53.6 Rl
6050 T FHTT 43 50 93 435 Enik]
6051 IFET A=Al 43 50 93 41.4 ik
6052 AT ST g 38 50 88 41.6 Exik]
6053 HrATTerET 2T 41 50 91 38.7 Exik]
6054 BERIPEEIPED 38 50 88 36.1 Enik]
6055 e Pt 27 50 77 33.2 ik
6056 T FH e 41 50 91 31.5 Exik]
6057 EECEE) 40 50 90 32.0 Enik]
6058 AL FATL 0 0 0 0.0 SRk
6059 EIRG- 18 0 0 0 0.0 SRk
6060 EES| 0 0 0 0.0 SRk
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6061 S FHTT 0 0 0 0.0 o
6062 o T 0 0 0 0.0 AT
6063 TS FHATT 0 0 0 0.0 o
6064 FOTT FHTT 0 0 0 0.0 o
6065 HATT FAR A 0 0 0 0.0 o
6066 EEGA LA 50 50 100 35.2 ikl
6067 T AT e T T 0 & ELRIK
6068 qfewar et aq aq 0 aq ELRl2 0]
6069 o TGTET TS T T 0 T ERRIE)
6070 STTAATEr FHTT TATT 0 0 0 0.0 AT



